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HihFAETA HiFEATB
HERIEH Beka—% |BRAKT—% [BRAKy—% Biko—% [BRAKT—% |BRKT—%
Bk o—3| f4t | &8 HF40%|SH3F50%| 2 HZE60% [Bikr—+| A (S8 340%|&HFE50%| = HZFE60%
THFDEE ps(e/cm®)| 2684 |2687] 2699 2.698 2.893 2.678 | 2.648 2.66 2.669 2.666
BARSKE Wn®%) 28 4.8 13.2 15.7 18.6 22.3 7.4 13 14.7 15.7
AP E(mm) 2.0 26.5 26.5 26.5 26.5 2.0 26.5 19.0 19.0 19.0
A % 0 57 35 27 22 0 75 39 32 29
E| B 2% 12 33 39 43 39 4 15 15 14 16
|| #Ai %) 88 10 26 30 39 96 10 46 54 55
= 5 7K R (%) — — 14.7 15.7 174 — — 13.3 13.7 14.0
BRERZEE@E/ cm’) — — 1.875 1.831 1.785 — — 1.940 1.902 1.884
BKIZRF(cm/sec) — — | 1.93E-07 | 1.40E-07 | 8.10E-08 — — | 482E-06 | 9.42E-08 | 7.75E-08

gbooooboobooboobgooooboooobooooboooobooboboboooon
gboooboooooboboobooboooboobooboobooboobobooboboooobooobn
gboooboooooboboobooboooboobooboobooboobobooboboooobooobn
gboooooboooboboo oamm UO0O00O00OD0O0DOOODOOOODOOODOOO0O0DOODbO
gbooobooboobobooboboboobobooboobooooo

gbooooboobooboobooooooboobooobooooboooobobbooboooDoooD

gogbboobboobboobobuoooboobboobboon
0000000000000 0D0OD00ODO0O 4036-10 TELD 046-285-333900 FAXO 046-286-0946

VII-312

~624~ EARFRFERO M E R A S CEAK134£101)



100 o
£ g0
£ | {
R 60
m> /
B 40
i) I
= 20 a
E) 4
o E
0001 001 01 1 10 100 1000 0001
#i £ (mm)
oooooo

gboo oooooo

goboooobooobobooboobooboobobog
gbooobooobooobobooboooobobog

gbooobooobooobobooboooobobog
gbooobooboobooboono

gboooobooboobooboooobobog

gbooobooobooobobooboooobobog
gbooobooobooobobooboooobobog
goboooobooobobooboobooboobobog
gbooobogobecbbobOooboOobboOobOon

00000 YWo00000000000000000

gboooobooobooboobooboboobobog
00000000000000 1.0x 107(cm/sec)d O
gbooooobooobooboooboobooboobobog
gbooobogooogsegbooooboobobn
soboooobooooboobobooobobn
gbooobooobooob 3s0boo0oogn s40o00o0
gboooboooboooboboobobooobobog
gboooboooboooboboobobooobobog
gboooboooboooboboobobooobobog

HEN
googog
gbbobaooobooobobooboboaoo

gbbobaooobooobobooboboaoo
gbbobaooobooobobooboboaoo
gbbobaooobooobobooboboaoo

gbobobouoobobooboboobabooboobon

gbooooobooobobooboooobobog

gbooobooboobooboooo
oooooo

0.01

0.1 1

10 100 1000

#I #Z (mm)

gooooo

2.00

0 dmax (g/cm®)

1.0E-04

1.0E-06

1.0E-07

BEIKIZEEK (cm/sec)

1.0E-08

1.0E-04

1.0E-06

1.0E-07

B IKZE Kk (cm/ sec)

1.0E-08

20

1.0E-05 E

1.0E-05 E

—— Biksr—%

—A— RFEAET

—Oo— K7 —F

—— BiKT—F

—o— Bk r—%

EHE40%

EHE0%

EHEE60%

20

AN
A—

e

1 10

—O0— HFE4E T Ao dmax)
—A— B FELE T B(0 dmax)
—o— WHh FEA + A(Wopt)

—A— R FE A T B(Wopt)

20 30 40

0

50 60

Mo SHE®S)

uboogboooobooooboobn
oooobooog

= & 7K EEWopt (%)

—O—HHFELET A

—— HHFEET B[

20 30 40

50 60

Bk —F SH/EMN
gboooobooooobooobogn

70

—Oo— Wi FEA LA
—— B FELE LB

//J

30 40

50 60 7

LE TP ERU)
gboooobooooobooobogn

onoooooooooooboOoboooboooooboo0oobOoobooooOoboooooo

oo0DoOoOobOog 198600 P-16

—-625-

0

VII-312

EARFRFERO M E R A S CEAK134£101)



